Rating TBI Answer Key

Rating TBI Answer Key


Rating Traumatic Brain Injuries

Review Exercise and Answer Key

1. A veteran is shown to have suffered a TBI while in Iraq after an IED explosion.  His service treatment records indicate the TBI was mild in nature.  At his recent VA examination, the veteran was shown to meet the requirements for a 3 under the memory facet of the TBI evaluation criteria.  Please select the correct disability evaluation based on these facts.

A. zero percent

B. 10 percent

C. 40 percent

D. 70 percent

2. Which of the following conditions is not considered a residual of a TBI?

A. Tinnitus

B. Migraines

C. Hearing loss

D. None of the above

3. A veteran suffered a TBI while on active duty and has recently developed PTSD due to his military service.  The VA examiner notes that these conditions overlap and he can not separate the residuals.  Which of the following is a correct way to handle this scenario?

A. Rate the TBI and PTSD as one disability

B. Rate the TBI and PTSD separately

C. Send the exam back for clarification

D. Deny service connection for both conditions

4. A veteran who suffered a TBI while on active duty has developed depressive symptoms, anxiety and a sleep disturbance due to the TBI.  However, the TBI examination report does not provide a formal diagnosis of a mental disorder. How should these symptoms be handled for rating purposes?

A. Rate the emotional/behavioral symptoms under 4.130

B. Rate the emotional/behavioral symptoms under 8045

C. Send the examination back for clarification

D. Deny service connection for the emotional/behavioral symptoms

5. A veteran with residuals from a TBI is noted to have impairment with visual spatial orientation.  Under this facet, the examiner noted the following: moderately to severely impaired. Gets lost, even in familiar surroundings, and is unable to use assistive devices such as GPS (global positioning system).  What would be the disability evaluation for this level of impairment?

A. 10 percent disabling

B. 40 percent disabling

C. 70 percent disabling

D. 100 percent disabling

6. A veteran is rated as 10 percent disabled due to the residuals of a TBI effective 07/05/2008.  A claim for an increased disability evaluation for the TBI is received on 11/01/2008.  A new VA examination performed on December 15, 2008 shows the same symptoms and findings that met the requirements for a 10 percent disability evaluation under the previous version of the rating schedule for TBI.  However, these findings now meet the requirement for a 40 percent disability evaluation under the new criteria which was effective 10/23/2008.  What is the effective date for the increase in the disability evaluation for the TBI?

A. 07/05/2008

B. 10/23/2008

C. 11/01/2008

D. 12/15/2008

7. Which of the following is not a main category of dysfunction for TBI under diagnostic code 8045?

A. Cognitive

B. Emotional/Behavioral

C. Physical

D. None of the above

8. A veteran who suffered a TBI while on active duty now has residuals of apraxia with motor activity described as “severely decreased.”  What disability evaluation would be warranted based on this finding?

A. 100 percent

B. 70 percent

C. 40 percent

D. 10 percent

9. Which of the following statements is correct in regards to diagnostic code 8045?

A. 38 CFR 3.114 is applicable

B. 38 CFR 3.114 is not applicable

C. The effective date for the regulations is 10/23/2008

D. Both A and C are correct
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